
τ · ds(t)
dt

+ s(t) = K.e(t)
τ

K

e(t) L−→ E(p) s(t) L−→ S(p)

τ · p · S(p) + S(p) = K · E(p)

H(p) =
S(p)
E(p)

=
K

1 + τ · p
K

1 + τ · p

s(t) e(t) =
E0 · H(t)

s(t)

τ · ds(t)
dt

+ s(t) = K.e(t)



s(t) = K · E0 ·
⎛
⎝1 − e

−t
τ

⎞
⎠

S(p) = H(p) · E(p)

S(p) =
K

1 + τ · p
· E0

p
e(t) L−→ E0

p

S(p) =
A
p
+

B
1 + τ · p

S(p) =
K · E0

p
− K · E0 · τ

1 + τ · p

K · E0

p
L−1−−→ K · E0 · H(t)

K · E0 · τ

1 + τ · p
L−1−−→ K · E0 · e

−t
τ · H(t)

s(t) = K · E0 ·
⎛
⎝1 − e

−t
τ

⎞
⎠H(t)

lim
t→∞

s(t) = lim
p→0

p · S(p)

lim
t→∞

s(t) = lim
p→0

(
p · K

1 + τ · p
· E0

p

)
lim
t→∞

s(t) = K · E0

K · E0 t → ∞

s(t)



t = 0

lim
t→0

s(t) = lim
p→∞

p · S(p)

lim
t→0

s(t) = lim
p→∞

(
p · K

1 + τ · p
· E0

p

)
lim
t→0

s(t) = 0

s(t)
t = 0

f (t) F(p)

L
(

d f (t)
dt

)
= p · F(p)− f (0+)

L
(

d f (t)
dt

)
= p · F(p)

s(t) =
d s(t)

dt

lim
t→0

ṡ(t) = lim
t→0

d s(t)
dt

= lim
p→∞

p2 · S(p)

lim
t→0

ṡ(t) = lim
p→∞

(
p2 · K

1 + τ · p
· E0

p

)
=

K
τ
· E0

K · E0

τ
=

s∞

τ
K · E0 τ

T5%
±5%

s(∞)− s(T5%)

s(∞)
= 0,05

K · E0 − K · E0 ·
(

1 − e
−T5%

τ

)
K · E0

= 0,05

e
−T5%

τ = 0,05

T5% ≈ 3 · τ

τ



K · E0
0,95 · K · E0

0,63 · K · E0

τ2
3τ2

T5% = 3τ
τ τ1

3τ1
τ2

3τ2
τ3

3τ3

τ



e(t) = δ(t)

S(p) = H1(p) =
K

1 + τ · p
⇒ s(t) =

K
τ
· e

−
t
τ

K
τ

τ

K
τ2

τ
K · a

a

e(t) = a · t · H(t)

S(p) = H1(p) · E(p) =
K

1 + τ · p
· a

p2

s(t) = K · a ·
⎛
⎝t − τ ·

⎛
⎝1 − e

−
t
τ

⎞
⎠
⎞
⎠



a2 · d2 s(t)
dt2 + a1 · d s(t)

dt
+ a0 · s(t) = b0 · e(t)

1
ω2

n
· d2 s(t)

dt2 +
2 · ξ

ωn
· d s(t)

dt
+ s(t) = K · e(t)

ωn > 0 rad s−1

ξ > 0 :
K

1
ω2

n
· d2 s(t)

dt2 +
1

Q · ωn
· d s(t)

dt
+ s(t) = K · e(t)

ωn > 0

Q =
1

2 · ξ

K

e(t) L−→ E(p) s(t) L−→ S(p)

p2

ω2
n
· S(p) +

2 · ξ

ωn
· p · S(p) + S(p) = K · E(p)(

p2

ω2
n
+

2 · ξ

ωn
· p + 1

)
· S(p) = K · E(p)

H(p) =
S(p)
E(p)

=
K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

Δ =
4 · ξ2

ω2
n

− 4
ω2

n
=

4
ω2

n
· (ξ2 − 1)

Δ ξ

ξ > 1 Δ > 0

r1 = ωn ·
(
−ξ −

√
ξ2 − 1

)
r2 = ωn ·

(
−ξ +

√
ξ2 − 1

)



τ1 = − 1
r1

= − 1

ωn ·
(
−ξ −√

ξ2 − 1
) τ2 = − 1

r2
= − 1

ωn ·
(
−ξ +

√
ξ2 − 1

)

ξ =
τ1 + τ2

2 · √τ1 · τ2
ωn =

1√
τ1 · τ2

H(p) =
K

(1 + τ1 · p) · (1 + τ2 · p)

ξ = 1 Δ = 0

r = −ωn

H(p) =
K(

1 +
p

ωn

)2 =
K

(1 + τ · p)2

0 < ξ < 1 Δ < 0

r1 = ωn ·
(
−ξ − j ·

√
1 − ξ2

)
r2 = ωn ·

(
−ξ + j ·

√
1 − ξ2

)

H(p) =
K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

ξ

e(t) = E0 · H(t) H(t)

S(t) =
K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

· E0

p

ξ > 0 ωn > 0



lim
t→∞

s(t) = lim
p→0

p · S(p) = lim
p→0

⎛
⎜⎜⎝p · K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

· E0

p

⎞
⎟⎟⎠

lim
t→∞

s(t) = K · E0

K

lim
t→0

s(t) = lim
p→∞

p · S(p) = lim
p→∞

⎛
⎜⎜⎝p · K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

· E0

p

⎞
⎟⎟⎠

lim
t→0

s(t) = 0

lim
t→0

ṡ(t) = lim
p→∞

p · p · S(p) = lim
p→∞

⎛
⎜⎜⎝p2 · K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

· E0

p

⎞
⎟⎟⎠

lim
t→0

ṡ(t) = 0

ξ ωn ξ > 0 ωn > 0

ξ > 1

S(t) =
K

(1 + τ1 · p) · (1 + τ2 · p)
· E0

p

S(p) = K · E0 ·
(

1
p
− τ2

1
τ1 − τ2

· 1
1 + τ1 · p

− τ2
2

τ2 − τ1
· 1

1 + τ2 · p

)

s(t) = K · E0

⎛
⎜⎝1 − τ1

τ1 − τ2
· e

−
t

τ1 − τ2

τ2 − τ1
· e

−
t

τ2 · H(t)

⎞
⎟⎠

ξ > 1 ξ =
τ1 + τ2

2 · √τ1 · τ2
ωn



t

K · E0
0,95 · K · E0

ξ > 1

ξ > 1
ξ = 1

z = 1

S(t) =
K

(1 + τ · p)2 · E0

p

S(p) = K · E0 ·
(

1
p
− τ

(1 + τ · p)2 − τ

(1 + τ · p)

)

s(t) = K · E0 ·
⎛
⎝1 − t + τ

τ
· e

−
t
τ

⎞
⎠ · H(t)

ξ ωn

s(t) = K · (1 − (1 + ωn · t) · e−ωn·t) · H(t)

0 < ξ < 1

S(p) =
K

1 +
2 · ξ

ωn
· p +

p2

ω2
n

· E0

p

s(t) = K · E0

(
1 − 1√

1 − ξ2
e−z·ωn·t · sin

(
ωn

√
1 − ξ2 · t + ϕ

))
· H(t)

ϕ = arccos ξ



ωp

ωp = ωn ·
√

1 − ξ2

s(t) = K · E0

(
1 − 1√

1 − ξ2
e−zωnt · sin

(
ωp · t + ϕ

)) · H(t)

s(t) = K · E0

(
1 −

(
cos

(
ωp · t

)
+

ξ√
1 − ξ2

· sin
(
ωp · t

)) · e−ξ·ωn·t
)
· H(t)

t

K · E00,95 · K · E0

1,05 · K · E0

0 < ξ < 1

0 < ξ < 1
ξ = 1

Tp =
2 · π

ωn ·
√

1 − ξ2

ωp = ωn ·
√

1 − ξ2

Tpm =
Tp

2
=

π

ωn ·
√

1 − ξ2

D1% = e

−π · ξ√
1 − ξ2

ξ ξ



Tpm =
Tp

2

Tp

t

K · E00,95 · K · E0

1,05 · K · E0

0 < ξ < 1

D1

D2

D3

D4

D5

D6

D7

D8

D1

D2

D3 D4



ξ

t

s

+5%
−5%

Tr0,7 Tr1

ξ = 1

ξ ≈ 0, 7
T5% · ωn

ξ > 0,7 ξ

ξ > 0,7 ξ

ξ ≈ 0,7
ξ = 1

ξ = 0,7 D1% = e

−π · ξ√
1 − ξ2

= 0,05

T5%

z

Tr · ωn

H(p) =
K

1 + 2·z
ωn

p + p2

ω2
n



d s(t)
dt

= K · e(t)

s(t) =
∫ +∞

0
K · e(u)du

H(p) =
S(p)
E(p)

=
K
p

K
p

t

s

e(t) = E0 · H(t)

s(t) = K · E0 · t · H(t)

s(t) = K · d e(t)
dt

H(p) =
S(p)
E(p)

= K · p K · p



s(t) = e(t − τ)

H(p) =
S(p)
E(p)

= e−τ·p e−τ·p

−+
E(p)

T(p)
ε(p) S(p)

BF(p) =
S(p)
E(p)

=
T(p)

1 + T(p)

T(p) =
Ko

1 + τo · p

Ko τo

BF(p) =
S(p)
E(p)

=

Ko

1 + τo · p

1 +
Ko

1 + τo · p

=
Ko

1 + Ko + τo · p

BF(p) =

Ko

1 + Ko

1 +
τo

1 + Ko
· p

K f =
Ko

1 + Ko

τf =
τo

1 + Ko



Ko → ∞
e(t) = E0 · H(t)

lim
t→∞

s(t) = lim
p→0

p · S(p) = lim
p→0

(
p · K f

1 + τf · p
· E0

p

)
= K f · E0

lim
t→∞

s(t) =
Ko

1 + Ko
· E0

ε i

ε i = lim
t→∞

ε(t) = lim
p→0

p · ε(p) = lim
p→0

(p · (E(p)− S(p)))

ε i = (

(
1 − Ko

1 + Ko

)
· E0 =

1
1 + Ko

· E0

Ko → ∞

T(p) =
Ko

1 +
2 · ξo

ωn0
· p +

p2

ω2
n0

Ko ξo ωno

BF(p) =

Ko

1 + Ko

1 +
2ξ0

(1 + Ko) · ωno
· p +

p2

(1 + Ko) · ω2
no

K f =
K0

1 + Ko

ωn f = ωno ·
√

1 + Ko > ωno

ξ f =
ξo√

1 + Ko
< ξo

1 Ko



H(p) =
K

1 + a1 · p + a2 · p2 + · · ·+ an · pn

H(p) =
S(p)
E(p)

=
1

(1 + p) ·
(
(1 +

p
6

)
·
(

1 +
p

20

)

s(t) = 1 − 25
19

· e−t − 1
57

· e−20·t +
1
3
· e−5·t

e20·t
e−t e−5·t

H1(p) =
1

(1 + p) ·
(
(1 +

p
6

) H2(p) =
1

(1 + p)

t

s

H(p) H1(p)

t

s

H(p) H2(p)



H(p) = K · 1 + a · p
1 + b1 · p + b2 · p2

H(p) = K ·
(

1
1 + b1 · p + b2 · p2 + a · p

1 + b1 · p + b2 · p2

)

a

S(p) = K ·
(

1
1 + b1 · p + b2 · p2 · 1

p
+ a · p

1 + b1 · p + b2 · p2 · 1
p

)

s1(t) = L−1
(

1
1 + b1 · p + b2 · p2 · 1

p

)

s(t) = K ·
(

s1(t) + a · d s1(t)
dt

)

lim
t→∞

s(t) = lim
p→0

p · S(p)

= lim
p→0

(
p · K ·

(
1

1 + b1 · p + b2 · p2 · 1
p
+ a · p

1 + b1 · p + b2 · p2 · 1
p

))
= K

H(p) =
1 + 0.5 · p
1 + p + p2 =

1
1 + p + p2 +

0.5 · p
1 + p + p2

s(t) = s1(t) + 0.5 · ṡ1(t)

H(p) =
1 − 0.5 · p
1 + p + p2 =

1
1 + p + p2 +

0.5 · p
1 + p + p2



s1(t)

0.5 · ṡ1(t)

s(t)

t

s

s(t)

s1(t)

0.5 · ṡ1(t)

s(t)

t

s

H(p) =
K

(1 + τ · p) · (1 − τ · p)

τ > 0
e(t) = E0 · H(t)

S(p) =
K

(1 + τ · p) · (1 − τ · p)
· E0

p

S(p) = K · E0 ·
(

1
p
− τ

2 · (1 + τ · p)
+

τ

2 · (1 − τ · p)

)



s(t) = K · E0 ·
⎛
⎝1 − 1

2

⎛
⎝e

t
τ + e

−
t
τ

⎞
⎠
⎞
⎠H(t)

−∞

t
s

t

s

H(p) =
1

1 − p + 10 · p2
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